# On Zero Sum Subsequences of Restricted Size III

W.D.Gao\*

November 10, 2000

#### Abstract

Let p > 2 be a prime, and  $G = C_{p^{e_1}} \oplus \cdots \oplus C_{p^{e_k}}$   $(1 \le e_1 \le \cdots \le e_k)$  a finite abelian p group. We prove that  $1 + 2 \sum_{i=1}^k (p^{e_i} - 1)$  is the smallest integer t such that, every sequence of t elements in G contains a zero-sum subsequence of odd length. As a consequence, we derive that, if  $p^{e_k} \ge 1 + \sum_{i=1}^{k-1} (p^{e_i} - 1)$  then every sequence of  $4p^{e_k} - 3 + 2 \sum_{i=1}^{k-1} (p^{e_i} - 1)$  elements in G contains a zero-sum subsequence of length  $p^{e_k}$ .

#### 1 Introduction

In 1961, Erdös, Ginzburg and Ziv proved that if  $a_1, a_2, \cdots, a_{2n-1}$  is a sequence of 2n-1 elements in a finite abelian group of order n (written additively) then 0 can be expressed as  $0=a_{i_1}+\cdots+a_{i_n}$  with  $1\leq i_1<\cdots< i_n\leq 2n-1$ . This result is known as the Erdös-Ginzburg-Giv theorem and has been generalized in several directions ([1-7], [10-14], [18-21], [23]). Let G be a finite abelian group with exponent m, by r(G) we denote the smallest integer t such that every sequence of t elements in G contains a zero-sum subsequence of length m. It is well known that  $G=C_{n_1}\oplus\cdots\oplus C_{n_k}$  with  $1< n_1|\cdots|n_k$ , k is called the rank of G. Denote  $1+\sum_{i=1}^k (n_i-1)$  by M(G). Let  $C_m$  denote the cyclic group of order m, and  $C_m^k$  the product of k copies of  $C_m$ .  $r(C_m^k)$  was first studied by Harborth [21]. Other than its own intersting, r(G) has been used in the study on non-unique factorizations [17]. So far, we have the following results about r(G).

<sup>\*</sup>This work has been supported partly by National Natural Science Foundation of China and the Foundation of University of petroleum. Department of Computer Science and Technology, University of Petroleum, Changping Shuiku Road, Beijing, 102200, China. e-Mail: wdgao@public.flnnet.cn.net

Proposition 1.1 Let p be a prime, and G a finite abelian group of exponent m. Then,

- 1)  $r(C_m^2) = 4m 3$  for  $m = 2^a 3^b 5^c 7^d$ . [22]
- 2)  $r(C_m^2) = 4m 3$  if  $m = 2^a 3^b 5^c 7^d n$  and  $n \le (2^{a+2} 3^{b-1} 5^c 7^d)^{1/3}$ . [11]
- 3)  $r(C_m^2) \le 6m 5$  [1].
- 4)  $r(G) \leq (ck \log_2^k)^k m$ , where k is the rank of G and c is a absolute constant. [2]
- 5)  $r(G) \le |G| + m 1$ . [18]

In this paper we prove that

Theorem 1.2 Let p be a prime, and  $G = C_{p^{e_1}} \oplus \cdots \oplus C_{p^{e_k}}$   $(1 \leq e_1 \leq \cdots \leq e_k)$  a finite abelian p-group. Suppose that  $p^{e_k} \geq 1 + \sum_{i=1}^{k-1} (p^{e_i} - 1)$ . Then  $r(G) \leq 4p^{e_k} - 3 + 2\sum_{i=1}^{r-1} (p^{e_i} - 1)$ .

Let G be a finite abelian group of exponent m. For every positive integer  $k \not\mid m$ , by  $E_k(G)$  we denote the samllest integer l such that every sequence of l elements in G contains a zero-sum subsequence T with  $k \not\mid T|$ .

We shall derive the following main result of which Theorem 1.2 is an easy consequence.

Theorem 1.3 Let p > 2 be a prime, and G a finite abelian p-group. Then,  $E_2(G) = 2M(G) - 1$ .

## 2 Proof of Theorem 1.2 and Theorem 1.3

To prove Theorem 1.3 we need some preliminaries.

Let G be a finite abelian group and  $S=(a_1,\cdots,a_l)$  a sequence of elements in G. By  $\iota(S)$  we denote the sum  $\sum_{i=1}^l a_i$ . We say S a zero-sum sequence if  $\iota(S)=0$ . A subsequence is a sequence  $T=(a_{i_1},\cdots,a_{i_t})$  with  $1\leq i_1<\cdots< i_t\leq l$ , we denote the index set  $\{i_1,\cdots,i_t\}$  by  $I_T$ . We say subsequences  $S_1,\cdots,S_u$  of S disjoint means that  $I_{S_1},\cdots,I_{S_u}$  disjoint. If subsequences  $S_1,\cdots,S_u$  of S disjoint, then we define  $S_1+\cdots+S_u$  to be the subsequence  $S_1,\cdots,S_u$  of S with  $I_X=I_{S_1}\cup\cdots\cup I_{S_u}$ , and define  $S-S_1-\cdots-S_u$  to be the sequence with index set  $I_S-I_{S_1}-\cdots-I_{S_u}$ . Sometimes, we denote  $S_1+\cdots+S_u$  also by  $S_1\cdots S_u$ . Davenport's constant D(G) is the smallest integer S such that every sequence of S elements in S contains a nonempty zero sum subsequence.

Lemma 2.1 If p is a prime and G is a finite abelian p-group then D(G) = M(G). [23]

The following lemma is crucial.

Lemma 2.2 [11] Let p be a prime, H a finite abelian p-group, and  $G = H \oplus C_{p^nm}$ . Suppose that  $p^n \geq M(H)$  and suppose that

$$m \ge \frac{p^n(p^n-2)|H|(r(C_{p^n} \oplus H) - 2p^n - M(H) + 2) - M(H) + 3}{2p^n}$$

Then,  $r(G) \leq 2p^n m + p^n + M(H) - 3$ .

Lemma 2.3 Let p be a prime, H a finite abelian p-group, and  $G = H \oplus C_{p^nm}$ . Then,  $2p^nm + E_2(H) - 2 \le r(G)$ .

**Proof.** Let  $l = E_2(H) - 1$ , and let  $a_1, \dots, a_l$  be a sequence of l elements in H such that the sequence contains no zero-sum subsequence T with 2 / |T|. Put

$$S = \left( \underbrace{\begin{pmatrix} 1 \\ \mathbf{0} \end{pmatrix}, \dots, \begin{pmatrix} 1 \\ \mathbf{0} \end{pmatrix}}_{p^{n}m-1}, \underbrace{\begin{pmatrix} -1 \\ \mathbf{0} \end{pmatrix}, \dots, \begin{pmatrix} -1 \\ \mathbf{0} \end{pmatrix}}_{p^{n}m-1}, \begin{pmatrix} 0 \\ a_{1} \end{pmatrix}, \dots, \begin{pmatrix} 0 \\ a_{l} \end{pmatrix} \right)$$

with 0 is the identify element in H.

Clearly, S contains no zero-sum subsequence of length  $p^nm$ . Therefore,  $2p^nm+E_2(H)-3=|S|\leq r(G)-1$ . Hence,  $2p^nm+E_2(H)-2\leq r(G)$ .  $\square$ 

Lemma 2.4 Let p be an odd prime, H a finite abelian p-group with  $M(H) = p^n$  for some positive integer n. Then,  $E_2(H) = 2M(H) - 1$ .

*Proof.* Choose positive integer m so that

$$m \ge \frac{p^n(p^n-2)|H|(r(C_{p^n} \oplus H) - 2p^n - M(H) + 2) - M(H) + 3}{2p^n}$$

Set  $G = H \oplus C_{p^n m}$ . By Lemma 2.2,  $r(G) \leq 2p^n m + p^n + M(H) - 3$ . It follows from Lemma 2.3 that  $2p^n m + E_2(H) - 2 \leq 2p^n m + p^n + M(H) - 3$ , therefore,  $E_2(H) \leq p^n + M(H) - 1 = 2M(H) - 1$ .

To prove the lower bound we consider the following example. Assume  $H = C_{p^{e_1}} \oplus \cdots \oplus C_{p^{e_k}}$ . Let

$$x_i = \begin{pmatrix} 0 \\ \vdots \\ 1 \\ \vdots \\ 0 \end{pmatrix} \in H$$

with the ith coordinate is 1 and the other's is 0. Put

$$S = (\underbrace{x_1, \cdots, x_1}_{p^{e_1}-1}, \underbrace{-x_1, \cdots, -x_1}_{p^{e_1}-1}, \cdots, \underbrace{x_k, \cdots, x_k}_{p^{e_k}-1}, \underbrace{-x_k, \cdots, -x_k}_{p^{e_k}-1})$$

Clearly, S contains no zero-sum subsequence T with 2/|T|. This implies  $E_2(H) > |S| = 2M(H) - 2$ . Hence,  $E_2(H) = 2M(H) - 1$ .  $\Box$  From the proof of Lemma 2.4 we see that

**Lemma 2.5** If H is a finite abelian group of odd order. Then,  $E_2(H) \ge 2M(H) - 1$ .

**Lemma 2.6** Let p be a prime, n a positive integer, H a finite abelian p-group, and  $G = H \oplus C_{p^n}$ . Suppose that,  $E_2(G) = 2M(G) - 1$ . Then,  $E_2(H) = 2M(H) - 1$ .

**Proof.** Let  $l=E_2(H)-1$ , and let  $a_1,\cdots,a_l$  be a sequence of l elements in H such that the sequence contains no zero-sum subsequence T with 2 / |T|. Consider the following sequence

$$S = \left( \underbrace{\left(\begin{array}{c} 1 \\ 0 \end{array}\right), \cdots, \left(\begin{array}{c} 1 \\ 0 \end{array}\right)}_{p^{n}-1}, \underbrace{\left(\begin{array}{c} -1 \\ 0 \end{array}\right), \cdots, \left(\begin{array}{c} -1 \\ 0 \end{array}\right)}_{p^{n}-1}, \left(\begin{array}{c} 0 \\ a_{1} \end{array}\right), \cdots, \left(\begin{array}{c} 0 \\ a_{l} \end{array}\right) \right)$$

with 0 is the zero element in H.

Clearly, S contains no zero-sum subsequence T with 2/|T|. Therefore,  $2p^n + E_2(H) - 3 \le E_2(G) - 1 = 2M(G) - 2 = 2(p^n - 1 + M(H)) - 2$ . This gives that  $E_2(H) \le 2M(H) - 1$  and the lemma follows from Lemma 2.5.  $\square$ 

**Proof of Theorem 1.3.** Assume  $G = C_{p^{e_1}} \oplus \cdots \oplus C_{p^{e_k}}$ . Note that

$$p^{2e_1e_2\cdots e_k} = 1 + (p^{e_1e_2\cdots e_k} + 1)(p^{e_1e_2\cdots e_k} - 1)$$

$$= 1 + (p^{e_1e_2\cdots e_k} + 1 - k)(p^{e_1e_2\cdots e_k} - 1) + \sum_{i=1}^k \frac{p^{e_1e_2\cdots e_k} - 1}{p^{e_i} - 1}(p^{e_i} - 1).$$

Set  $H=C_{p^{e_1e_2\cdots e_k}+1}^{p^{e_1e_2\cdots e_k}+1-k}\oplus C_{p^{e_1}}^{\frac{(p^{e_1e_2\cdots e_k}-1)}{p^{e_1}-1}}\oplus \cdots \oplus C_{p^{e_k}}^{\frac{(p^{e_1e_2\cdots e_k}-1)}{p^{e_k}-1}}$ . Then,  $M(H)=p^{2e_1e_2\cdots e_k}$ . By Lemma 2.3,  $E_2(H)=2M(H)-1$ . By using Lemma 2.6 repeatedly, one can get  $E_2(G)=2M(G)-1$ . This completes the proof.

Lemma 2.7 ([8]) Let p be a prime, H a finite abelian p group, and  $G = C_{p^n} \oplus H$ . Suppose that  $p^n \geq M(H)$ . Then, every sequence of  $2p^n + M(H) - 2$  elements in G contains a zero-sum subsequence of length  $p^n$  or  $2p^n$ .

Proof of Theorem 1.2. Let S be a sequence of  $4p^{e_k}-3+2\sum_{i=1}^{k-1}(p^{e_i}-1)=t$  elements in G. Set  $H=C_{p^{e_1}}\oplus\cdots\oplus C_{p^{e_{k-1}}}$ . Suppopes  $S=(a_1,\cdots,a_t)$ . Define

 $b_i = \left( \begin{array}{c} 1 \\ a_i \end{array} \right)$ 

for  $i = 1, \dots, t$ .

Set  $T=(b_1,\cdots,b_t)$ . By Theorem 1.3,  $E_2(C_{p^{e_k}}\oplus G)=2M(C_{p^{e_k}}\oplus G)-1=|S|=|T|$ . Therefore, there is a zero-sum subsequence W of T such that 2/|W|. By the making of T we must have,  $p^n|T$ . Since,  $p^n\geq M(H)$ ,  $|W|\leq |T|=|S|<6p^n$ . Therefore,  $|W|=p^n,3p^nor5p^n$ . Assume

$$W = \begin{pmatrix} 1 \\ a_{i_1} \end{pmatrix}, \cdots, \begin{pmatrix} 1 \\ a_{i_t} \end{pmatrix}$$

Put  $U = (a_{i_1}, \dots, a_{i_l})$ . Then,  $|U| = p^n, 3p^n$  or  $5p^n$ , and U is a zero-sum subsequence of S. We distinguish three cases.

Case 1.  $|U| = p^n$  and we are done.

Case 2.  $|U| = 3p^n$ . By Lemma 2.7, there exists a zero-sum subsequence V of U with  $|V| = p^n$  or  $2p^n$ . Therefore, V or U - V is a zero-sum subsequence of length  $p^n$ .

Case 3.  $|U| = 5p^n$ . By Lemma 2.7, there exists a zero-sum subsequence V of U with  $|V| = p^n$  or  $2p^n$ . Therefore, either V is a zero-sum subsequence of length  $p^n$ , or U - V is a zero-sum subsequence of length  $3p^n$  and it reduces to Case 2.

## 3 Remaks and Open Problems

Quite recently, it was proved that  $r(C_p^2) \le 4p-2$  by Rónyai [26] and that  $r(C_{p^k}^2) \le 4p^k-2$  by the author [16], respectively. By using  $r(C_p^2) \le 4p-2$  one can prove by induction that  $r(C_n^2) \le 5n-4$  for any positive integer n.

**Proposition 3.1** If n is odd then  $E_2(C_n) = 2n - 1$ .

*Proof.* By the Erdös-Ginzburg-Ziv theorem we know that  $E_2(C_n) \leq 2n-1$ , and by Lemma 2.5 we see that the equality holds.

Theorem 3.2 Let n, m be odd positive integer with m|n. Then,  $E_2(C_m \oplus C_n) = 2m + 2n - 3$ .

*Proof.* We proceed by induction on m. If m = 1 then it follows from Proposition 3.1.

Suppose this theorem is true for m < k we prove it is true also for m = k. Let p be a prime divisor of m. Let  $\phi$  be the natural homomorphsim from  $C_m \oplus C_n$  onto  $C_p^2$  with  $\ker(\phi) = C_{\frac{m}{p}} \oplus C_{\frac{n}{p}}$ . Let  $S = (a_1, \cdots, a_{2m+2n-3})$  be a sequence of 2m+2n-3 elements in  $C_m \oplus C_n$ . Set  $\phi(S) = (\phi(a_1), \cdots, \phi(a_{2m+2n-3}))$ . By applying  $r(C_p^2) \leq 4p-2$  to  $\phi(S)$  repeatedly, one can find  $2\frac{m}{p}+2\frac{n}{p}-4$  disjoint subsequences  $S_1, \cdots, S_{2\frac{m}{p}+2\frac{n}{p}-4}$  such that  $\iota(S_i) \in C_{\frac{m}{p}} \oplus C_{\frac{n}{p}}$  and such that  $|S_i| = p$  for  $i = 1, \cdots, 2\frac{m}{p}+2\frac{n}{p}-4$ . By Theorem 1.3 one can find a subsequence  $S_{2\frac{m}{p}+2\frac{n}{p}-3}$  (say) of  $S-S_1-\cdots-S_{2\frac{m}{p}+2\frac{n}{p}-4}$  such that  $\iota(S_{2\frac{m}{p}+2\frac{n}{p}-3}) \in C_{\frac{m}{p}} \oplus C_{\frac{n}{p}}$  and  $|S_{2\frac{m}{p}+2\frac{n}{p}-3}|$  is odd. Now by the assumpation on the induction there is a subset I of  $\{1,\cdots,2\frac{m}{p}+2\frac{n}{p}-3\}$  such that  $\sum_{i\in I}\iota(S_i)=0$  and |I| is odd. Hence,  $\sum_{i\in I}S_i$  is a zero-sum subsequence of S and  $\sum_{i\in I}|S_i|$  is odd. Therefore,  $E_2(C_m\oplus C_n)\leq 2m+2n-3$ . Now the theorem follows from Lemma 2.5.

One can use Theorem 1.3 to get some graphic results in a similiar way to [3].

### **Problem** To determine $E_k(G)$ .

It seems not easy to determine  $E_k(C_n)$  for all n, k with k < n and  $k \not | n$ . The readers can find several intersting but difficult open problems in [1] and [2].

#### References

- [1] N.Alon and M.Dubiner, Zero-sum sets of prescribed size, in "Combinatorics, Paul Erdös is Eighty, Vol.1, Keszthely(Hungary)," pp. 33-50, Bolyai Soc.Math.Stud., Jnos Bolyai Math. Soc., Budapest, 1993.
- [2] N.Alon and M.Dubiner, A lattice point problems and additive number theory, combinatorica, 15(1995), 301-309.
- [3] N.Alon, S.Friedland and G.Kalai, Regular subgraphs of almost regular graphs, J.Combinatorial Theory Ser. B 37(1984), 79-91.
- [4] A.Bialostocki and P.Dierker, On the Erdös-Ginzburg-Ziv theorem and the Ramsey numbers for stars and matchings, Discrete Math., 110(1992), 1-8.
- [5] A.Bialostocki and M.Lotspeich, Some developments of the Erdös-Ginzburg-Ziv theorem, in "Sets, Graphs and Numbers", Coll. Math. Soc. J.Bolyai, 60(1992), 97-117.
- [6] Y.Caro, Zero-sum subsequences in abelian non-cyclic groups, Israel J.Math., 92(1995), 221-233.
- [7] Y.Caro, Zero-sum problems- a survey, Discrete Math., 152(1996), 93-113.
- [8] P.van Emde Boas, A combinatorial problem on finite abelian groups II, Report ZW-1969-007, Math. Centre, Amsterdam.
- [9] P.Erdös, A.Ginzburg and A.Ziv, A theorem in additive number theory, Bull Res. Council Israel, 10F(1961), 41-43.
- [10] Z.Füredi and D.J.kleitman, The minimal number of zero sums, in "Combinatorics, Paul Erdös is Eighty, Vol.1, Keszthely(Hungary)," pp.159-172, Bolyai Soc.Math.Stud., Jnos Bolyai Math. Soc., Budapest, 1993.
- [11] W.D.Gao, On zero-sum subsequence of restricted size, J.Number Theory, 61(1996), 97-102.
- [12] W.D.Gao, Two addition theorems on groups of prime order, J.Number Theory, 56(1995), 211-213.

- [13] W.D.Gao, A combinatorial problem on finite abelian groups, J.Number Theory, 58(1996), 100-103.
- [14] W.D.Gao, An addition theorem on finite cyclic groups, Discrete Math., 163(1997), 257-265.
- [15] W.D.Gao, Addition theorems and group rings, J.Combinatorial Theory, Ser.A, 77(1997), 98-109.
- [16] W.D.Gao, Note on a zero-sum problem, preprint, 2000.
- [17] W.D.Gao and A.Geroldinger, Half factorial domains and half factorial subsets in finite abelian groups, Houston Journal of Mathmetics, to appear.
- [18] W.D.Gao and Y.X.Yang, Note on combinatorial constant, J.Res. and Expo., 17(1997), 139-140.
- [19] Y.O.Hamidoune, On weight sums in finite abelian groups, Discrete Math., 162(1996), 127-132.
- [20] Y.O.Hamidoune, O.Ordaz and O.Ortunio, On a combinatorial theorem of Erdös, Ginzburg and Ziv, Combinatorics, Probability and Computing, to appear.
- [21] H.Harborth, Ein Extremaproblem für Gitterpunkte, J.Reine Angew. Math., 262/263(1973), 356-360.
- [22] A.Kemnitz, On a lattice point problem, Ars Combin. 16b(1983), 151-160.
- [23] J.E.Olson, A combinatorial problem on finite abelian groups, J.Number Theory, 1(1969), 8-10.
- [24] J.E.Olson, On a combinatorial problem of Erdös, Ginzburg and Ziv, J.Number Theory, 8(1976), 52-57.
- [25] C.Peng, Addition theorems in elementary abelian groups I, J.Number Theory, 27(1987), 46-57.
- [26] L.Rónyai, On a conjecture of kemnitz, preprint, 2000.